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P = (2, 1,−1)
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ψ(e1) = e2 + e3;
ψ(e2) = e1 − e3.

� ?��6<�G�jHG�FR>LJKAM?#FHG�ISG�GT��\M?#^TJS=�A;J�B3J
f s

� | �6<�G�jHG�FR>LJKAM?#FHG�JQD;\;AqjRJ�~MWHWRJzB3J
f
d

� d���IU?�WHWRJo~MOY?#FHG]ISG�JSWH=�>EG�jRFRJSG�B3JQ\;AM?rFHG�jRj}?LG�\CO�IKJSB;GY?3d
�Cd�f�JU?

E
2
JKIzD;JU?#AC=EG�\CO�IKJSB;GT=EOT=�A FRJo�¢G�FRJK>EG�AqjH=V=�FRJSG�Aqj}?#jH=

(O,E)
d

� ?�� f.O�FRJKh-G�FHG�ISG�GT��\M?#^TJS=�A;J]B;G�IKIU? FH=�j}?#^TJS=�ACG
σ = σP0

B3J
E

2
k&B3J�OTG�A�jRFH=

P0 = (−1, 1)
GTB�?#A;�-=�IS=E=�FRJSG�Aqj}?#jH=

[θ] = [π

6
] s

� | � f.O�FRJKh-G�FHG ISG GT�q\M?#^TJS=�A;J�B;G�IKIU?�FRJ
	MGTWHWRJS=�ACG
ρr

k]OT=�A
r
FHG�jRj}?�B3J

E
2
B3J

GT�q\M?#^TJS=�ACG
x+ y − 1 = 0 s

� O��6t ACB3JKh.JSB3\M?#FHG]IU?rFHG�jRj}?
s
D
G�F

P0

j}?#ISG]O}�CG
ρr ◦ ρs = σ

d
� d�f�JU?#AC=

r
GTB

s
B3\CG6FHG�jRjHG6JKACO�JSB;G�AqjRJ�B3J

E
2
d�
�G�FRJo~MOY?#FHG O}�CG

ρr ◦ ρs

Z6\;AM?
FH=�j}?#^TJS=�ACG@B3J

E
2
k�B3J�OTG�AqjRFH=�JKI�D;\;AqjH=

P0 = r ∩ s
dEciJSWHW}?#jH=1D
=�J�\;A FRJo�¢G�FRJon

>EG�AqjH=�OY?#FRjHGTWRJU?#AC=;k.B;G�jHG�FR>LJKAM?#FHG�IlX{?#A;�-=�IS= � =�FRJSG�Aqj}?#jH=���B3JCj}?#ISG&FH=�j}?#^TJS=�ACG2k�JKA
� \;A;^TJS=�ACG�B;G��2IKJ�?#A;�-=�IKJ � =�FRJSG�Aqj}?#jRJ���B3J

ρr

G
ρs

d

�


